Tnn ow

ANINDIND 297 29 NNPR 93
NMD WORD NROWIYD NPRD N2V NI N

T23RIN 292100 NRONWED MRD N229312N2) ,10-3 19PRD T 292 2

iy
Ix10=___ :>nn a
(2)
nikp | iy | nimm 7 S IWPRN N
' 10x7=___:571n 2
0200 AN N
D 2) €)
9x10= 10x4= 14 x 10 =
@ (5 6)
27 x10= 10 x 74 = 60 x 10 =
@ (8) (9)
5x 10 % 10 = 10x 18 x 10 = 10 x 10 x 36 =




R0 [PRD M YNYYD MeD Novg A N
TIZ3PI0 N22900 NN NIYYD M0 12393 13712),100-3 I9PRD NN D 3

1

8 :9PPD N

8x100=___-20n a2

®

6 : 9P N

1000xé6=___ 2010 2

()

52 :99PH0 N

52 x 100 = __:5"10 2

oMmmanxnne 4
D ©) 3
8 x 100 = 100 x 6 = 19 x 100 =
@ O, (6
64 x 100 = 100 x 81 = 40 x 100 =
@ (8 ®
0x 100 = 1x100 = 35 x 100 x 10 =




